Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.

50, will be treated as malpractice.

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8
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Fifth Semester B.E. Degree Examlﬂaqon, Jan./Feb. 2021
Operating Systems

“MHX Marks:100

(08 Marks)
Describe the differences betweém symmetric and asymmetnc multiprocessing. What are the
three advantages of multlprocéssor systems? A (06 Marks)

/i lainthe Just-In-Time (JIT) compiler, used
in a JAVA virtual machm 7 (06 Marks)

Define IPC (Int;:rp cess Commumcatlon) What are the different methods used for logical

1mplementat10n o“'?a message passing system" Explain any one. (06 Marks)
Explam Vanous multlthreadlng models and the benefits of multithreading programs.
(06 Marks)
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Pmcess Arrival Time

(1)
Priority (preernptlve) Round Tobin (T S=1 ms).
(i) Which ofithese CPU scheduling algorithms gives minimum Average Waiting Time
(AWT) and Minimum Average Turn Around Time (ATT)? (08 Marks)

DeﬁnQ&Race Condition. Expla\ L solution to a critical section problem

must sa%lsfy (04 Marks)
Discuss how Reader—Wrrt@ problem can be lved using semaphores with an example and
also write the structure for Reader and Wnter process (10 Marks)
What is monitor? Ekplam the solution to the classical dining Philosopher’s problem, using
monitor. & (06 Marks)

Describe the neccssary conditions‘for a “deadlock situation to arise, in a system. (04 Marks)
i or handling deadlocks? Explain Banker’s algorithm.

. (10 Marks)

Discuss the various approaches, used for deadlock recovery. (06 Marks)
“3"  PART-B

What is paglng and swapping? (06 Marks)

Discuss steps in han@lmg a page fault with the help of a neat diagram. (06 Marks)

Consider the following page reference string 5,4, 3,2, 1,4, 3,5,4,3,2, 1, 5. Assume there

(08 Marks)
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With the help of neat diagram, describe:
(1)  Tree-structures directory
(i) Acyclic-graph directory
Explain contiguous, linked and indexed method of

(08 Marks)
(12 Marks)

1nitially at track 50
levator and C-look
movements. & (12 Marks)

Given the following queue 95, 180, 34, ‘
and ending at 199. Calculate the number
algorithms. Also calculate the averag

What are access matrix? Discuss engths and weaknesm implementing an access
matrix using access list that are 2 ﬁted with an object. fﬁﬁ:«\” (08 Marks)

P o
Write short notes on the follo&w :

LINUX design principles™®% ¢
Process management i
Network structure in L]

Different interprodgs$icommunication mech%nf%vailable in LINUX (20 Marks)
* % ¥ k'Y




